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The magnetic potential energy stored in a certain
inductor is 25 mJ, when the current in the
inductor is 60 mA. This mductor is of inductance
(1) 13891
@ 0138y
(8) 13891

138-88 H

An object is placed at a distance of 40 cm from a
concave mirror of foca] length 15 em. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 36 cm towards the mirror

(2) 30 em away from the mirror

(3) 30 cm towards the mirror

(4> 36 cm away from the mirror

An em wave is propagatang in a medmm with a ..
velocity V = Vvi. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillatix-:g magnetic field of |
the em wave will be along

(ﬂ - x direction i
(2) - zdirection
(3) -y direction

+ z direction

)
The refractive index of the material of a prism is
¥2 .and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirtor, inwards, by silver coating. A beam of
monochromatic light entenng the prism from the
other face will retraoe its path (after reflection

T% % & f10 v 1 SPACE FOR ROUGH WORK

aft fred T I 0 5 A 3 . from the sﬂvered.surfa_me} if its angle of incidence
\ on the prlsm s
(3) 30° il
(4) 45° " : -
(4) 45°
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8. mmmﬁmaﬁﬂpﬁﬂmaﬂmﬁ,& The power radiated by a black body is P and it
%maﬁmmﬁﬁ%&aw&ﬂilmﬁﬁ ninte ¢ :
e A i iy iates maximum energy at wavelength, A, It
3 ﬂ ) = i & the temperature of the black body is now
2 ho TR W s ot faffa w1l &, changed so that it radiates maximum energy at
6% g fafefa wfdd nP & 9 2 | n %1 AH & wavelength g A, the power radiated by it
@ 3L becomes nP. The value of n is
260 (- 81
@ 32 A
£ @ 32
@ 256 4
81 e 29
(4) f_l. &1
: ; | @ 2
9. 2 R Tum vd ¥ W ¥ 3k 3 & e ft W 3
4 ﬁl%ﬁmﬁmmmﬁmﬁm@m 9. Two wires are made of the same material and
H STE-FHE T ATFA 3A 2| af 7@ F @ have the. same volume. The first wire has
; £ @ an cross-sectional area A and the second wire has
?ﬁjﬁﬁ " # Al # ?& Qia;%ﬁﬁlﬁ?:l A cross-sectional area 3A. If the length of the first
i @ 3 wire is increased by Al on applying a force F,
STaTERdl Bt ? how much force is needed to stretch the second
(1) F wire by the same amount ?
(2 9F (1) F
! (3)- 4F (2 9F
i @ o
10. |MFEF T4 (1:013 x 10° Nm™) 3R 100°C a9 W =i
0-1 g ¥ % T F 100°C H WY # qfafia =& %[10. A sample of 0-1 g of water at 100°C and normal
: fow 54 ¥ FE0 Fal HI AEERA T 2 | 3R pressure (1-013 x 10° Nm™2) requires 54 cal of
4 37 W9 F AEEE 167-1 cc B, 9 T T I heat energy to convert to steam at 100°C. If the
! a7t Sl | uftEd § volume of the steam produced is 167-1 cc, the
(1) 845J change in internal energy of the sample, is
(2) 104-3J (1) 845 :;IJ
3) 422J :; :g‘; -
; {;} 205 : : (4) 2087J .
1. s . S & fosell a5 11. A small sphere of radius 4 falls from rest in a
firar & 'm‘“%mﬁﬁmwﬁﬁﬁt I viscous liquid. As a result, heat is produced due
e % A () 3 W oI sEn fi W to viscous force. The rate of production of heat
frferfaa # @ fras srgsmmgurd 8 8 2 when the sphere attains its terminal velocity, is
4 pmportiuna] to
(1) r 4
@ e g
- @
3 r @) 5
@ v @ -3
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